H & 0l & AHS B Ml A

M G20 FOIME BOIEA
SRl AIEHEE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[QE=gsil 1,914,737 1,816,201 98,536
HEH FRIME HASH 861,391 859,675 1,716
ANEHAE 29 811,391 809,675 1,716
oy N2 518,819 524,382 N5,563
202 04| 2,189 2,432 A243
01 2K 2,189 2,432 N243
OoE 29 34 50,0003 x4 2 22 x53] 2,000
O&= XXMl #X|0H 37,8003 +5& 189
301 LEtE NS 516,630 521,950 25,320
o7 8801 - 32243 489,560 494,240 A\4,680
oold JiE=¢ 300,000& «102E 122 367,200
O01d &0i=s 300,000& *102E *23] 61,200
Oo0ld &S =&
20,0002 x102E #2312 48,960
ogtaE s 25,0003 x244 8 »23] 12,200
11 dALEBIXNIZE S 2,590 2,990 A400
Oz8 uWs, ML S Z4A 24
10,0002 x100E #2323 2,000
ONBEX A S BAX} B4
10,0002 59 590
14 JIEt2 8= 24,480 24,720 A240
O01& Sl 20,0003 102« 12& 24,480
XS SSAS (FRIE 00l A) 240,000 240,000 0
201 Ler23| 205,000 150,000 55,000
01 At2teltl 30,000 0 30,000
OMelltE I2s 2l M
20,000,000 * 14 20,000
OEY 24X ST
10,000,000& * 14! 10,000
03 A= &I 175,000 150,000 25,000
Ot aigol = 30,000,000& * 14| 30,000
O/ITHAI7 =I5t etite 28X
20,000,000 * 14 20,000
OAtgel BRI SN et HE 2=
Jl 10,000,000& * 14! 10,000
O¥=E2 Mgl et Hie
12,000,000 * 14| 12,000
ogisst AR g€d HAZY SH
15,000,000 * 14 15,000
OdiEd 2tZdst g5 & 0 BEEAMY
23,000,000 * 14! 23,000
O=2% 2= di== SEUt
18,000,000 * 14| 18,000
OJTAIT 2=t EHots AOE 23
Al 20,000,000 *14] 20,000




2A: HEH

M G20 FOIME BOIEA
SRl AIEHEE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ool24l =500 A
10,000,000& * 14 10,000
O=Rclits HBua 2HOZ dl=st oflE
== 17,000,000 * 14 17,000
401 AIEHIZ SR OHYI 35,000 90,000 55,000
01 Al&HI 35,000 90,000 55,000
O=gXYD| 45SFIINY 21201E €X
20,000,000& * 14| 20,000
O Bt X120l Mgl
8,000,000& *14] 8,000
Odigd =Hig atZdst 224 & 2l
l 7,000,000 * 14 7,000
FoEFAHMA 2 1,400 1,200 200
301 2P EN= 1,400 1,200 200
11 dALEEIXIE S 1,400 1,200 200
OFIFHOI0IL BE Sei2)| Abl 24
20,0003 x362H+23] 1,400
FAUXNX & HEH =29 51,172 44,093 7,079
201 fer23| 24,600 26,400 /1,800
01 AtR2t2|HI 24,600 26,400 1,800
OFCURRIHE 2et+=ShI
300,000& * 128 3,600
OFLUXNXIAY 22+
50,0002 x35EF «12& 21,000
301 EtE NS 26,572 17,693 8.879
11 dALEEIXIE S 1,400 1,200 200
OZVXXILES S LT A8t
40,0002 x35% 1,400
4Bt 2as 25,172 16,493 8,679
FERXIE NHESAEL &8 XS
11,0002 x2S * 102+ 122 2,640
OFINXIE B3 ALY 42 X
9,860 +BAI 2202 123 18,932
O=2UXNXIHE 2218 29
300,000 x 12 3,600
AR 50,000 50,000 0
HE=H A 50,000 50,000 0
401 Al HIZ R 0HHI 50,000 50,000 0
01 AlZ8| 50,000 50,000 0
OM=0tE 2 10014 2=213 SAt
15,000,000 * 14! 15,000
OgJtits 2 10014 S5+ SA
15,000,000& » 14 15,000
O=2l=¢ 21 Ul
20,000,000 * 14! 20,000
HEH seIIg+= 664,346 584,346 80,000




SM: HEH
HY: RO Se)|unE
ol sgoletxd & g EER=E)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
sgolgtrd 2 O 664,346 584,346 80,000
SINEEE S A2 ARG (FUE A 664,346 584,346 80,000
401 AlZHIZ SO 664,346 584,346 80,000
01 Al&H| 664,346 584,346 80,000
O=40t2 otd FHIZA
15,000,000 * 14 15,000
O4tI0tE ofd A=ZHISA
15,000,000 * 14 15,000
OlSitE s EUHELEAM
15,000,000 %14 15,000
Otlchits s2 HESA
15,000,000 * 14} 15,000
O¥stits 7 H EHISAH
15,000,000 *14] 15,000
OSKOts 2 HESA
17,000,000 * 14 17,000
Olietlls s2 2+3A
17,000,0002 % 14] 17,000
OgiHits s MHESAH
19,000,000 * 14 19,000
OUotllE 7l =2 SESA
18,000,000 * 14 18,000
Olglls s2 &&SA
18,000,000 *14] 18,000
OdElE S22 X MEHELSA
18,000,000 * 14 18,000
Otldits s2 Ex3At
15,000,000 * 14 15,000
OXElte s2 HESA
18,000,000 *14] 18,000
OLS0t= B2 HBISA
19,000,000 * 14} 19,000
Ol =2 SYSA
19,000,000 *14] 19,000
Odelll= B2 ZHISA
19,000,000 *14] 19,000
OJIE0I= B2 HBISA
19,000,000 * 14} 19,000
Os=ll2 2 2+3A
19,000,000 *14] 19,000
OdUlis s2 &ESA
19,000,000 *14] 19,000
OA20t= Bi==2Z SHESA
15,000,000 * 14} 15,000
OdtAlllE =2 dUISA
19,000,000 *14] 19,000
OUSOIE 912 HMSIIBA
17,000,000 *14] 17,000




SM: HEH
HY: RO Se)|unE
ol sEI1gEd & OO EER=E)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
OAQHtS AYZ OtAE IR
17,000,000 » 14 17,000
O30t Y2 AT SAL
18,000,000 * 14 18,000
OalE0I=E o2 FUISA
15,000,000 * 14 15,000
OdD|0tE ot OtAE SM L))
19,000,000& * 14 19,000
O=%0t= dgYZ 57 £XSA
19,000,000& * 14! 19,000
OgF0tS Y2 ST SA
12,000,000 * 14} 12,000
O—7&i0tE dYZ OtAZ TMLI| SA
19,000,000& » 14 19,000
O20ts =257 4| SAt
19,000, 0003 * 14! 19,000
OSH0t= otk ZHISA
15,000,000 * 14} 15,000
O=&0I= otk JHISA
10,000,000& » 14 10,000
ORE0IE ot SHSA
6,000,000 *14 6,000
OZH0lE 483 HEFSA
10,000,000 * 14} 10,000
Odigd 2 22 25U
14,189,000 » 14 14,189
OdllEH 2 02 38X 2=
11,157,000 * 14 11,157
O4alJI0I= Bi+=2 ZHISA
20,000,000 * 14 20,000
OSHAIOIE B2 ZHISA
20,000,000& * 14 20,000
O=F0I2 =2 ZJHISAHAIZ2IE 0 ol
2) 20,000,000 x 14 20,000
Ods Oies2 ZESAHHASEE €)
20,000,000 * 14 20,000
HH2AZHI(HEH) 389,000 372,180 16,820
el 2E| 135,556 129,236 6,320
el E2d| 135,556 129,236 6,320
101 21AH| 135,556 129,236 6,320
01 2= 131,755 125,547 6,208
OAZ2Z224¢
11,3192 +31&+30AI 2+ 123 126,321
OAlRt2IZ24(A=2HI4)
11,3192 22 *4A| 260 5,434
02 JIEtA 2= 3,801 3,689 12
OAteI22+E
10,556 x 18 *30A1 2+ 122 3,801




A HEH
M HHSAAH(HED)
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Jl=3| 253,444 242,944 10,500
J1=3H| 253,444 242,944 10,500
201 YEH2 | 151,244 143,444 7,800
01 Al 2+2IH 63,550 61,750 1,800
OMNREE ¢ 15,0002 *30% * 122 5,400
OLbte2H|(ARSE2E 7¢)
103,502 *123] 1,042
OFIIQHMEY 242 (A4 AITH)
500,0002 * 122 6,000
OAYOHMEA 42 (A4 AIH)
500,000 x27H A 23] 2,000
O=AEX 2L (M)
29,3002 %302} A% 123] 10,548
O=AD EH S ¢
200,00024x3CH*83] 4,800
O=AD| LXZ (28, 44)
600,00084* 12 7,200
oZgH €4 £ 7
150,00024*10CH*53 7,500
O=AD|, TRIE +&LX|
100,0002 %53 500
OYRFXE HHEE M
200,00081x304 A:#23] 1,200
OF4Il € Uz 60,0002 +8CH* 122 5,760
OANEESR 340 HIF
120,0002 153 1,800
OYSEX S04
8,00021x10Z * 102 * 102 9,600
®2 222l 87,694 81,64 6,000
OHIINES(2E, 44, AlTH)
1,380,0002 %304 A% 122 49,680
ONBIEE AIZZ (20,414 AlTH)
300,000 %370 A% 124 10,800
osae3 122,0008! « 12" 1,464
ORHER3 1,000,0002 * 122 12,000
OAEZHIS R (22, &, AlTH)
200,000 %370 A+ 1224 7,200
OR=J ==t 150,0008! « 12 1,800
ORS XAl 70,0002 %13 70
O2AEX LRI 58,0002 * 1228 6%
O52)| HEEYA S +42(&4, M)
33,0002+ 122 3,984
202 014 86,400 83,700 2,700
02 FH0IH] 86,400 83,700 2,700
O Mo 25,0002 %3224« 122 86,400
203 PR FAIH| 15,800 15,800 0
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